






\Directions (Q. 15-17):- Direction for Question Following pie chart shows the total 

number of employee in different cities in a TCS company and the table shows the 

percentage of male employee among them

प्रश्न के लिए लिरे्दश लिम्नलिखित पाई चार्ट एक र्ीसीएस कंपिी में लिलिन्न शहर ं में कमटचाररय ं

की कुि संख्या क र्दशाटता है और तालिका उिमें से पुरुष कमटचाररय ं का प्रलतशत र्दशाटती है
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Q.16:- What is the ratio between the number of female employees working in Firozabad to 
the number of male employees working in Emphal.
लिर जाबार्द में कायटरत मलहिा कमटचाररय ं की संख्या का इम्िाि में कायटरत पुरुष कमटचाररय ं
की संख्या से अिुपात लकतिा है?

(A)11: 13 (B)13:9 (C)9: 11 (D)7:12 (E)None of these
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Q.17 :-The total female employees of Alipur is what percentage of total female employees of 
Chennai ?
अिीपुर की कुि मलहिा कमटचारी चेन्नई की कुि मलहिा कमटचाररय ं का लकतिा प्रलतशत है?

(A)65.2% (B)62.5% (C) 56.5% (D)48.5% (E)None of these
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Q.18 :-Find the total male employees of Chennai, Delhi and Emphal together?

चेन्नई, लर्दल्ली और एम्िाि के कुि पुरुष कमटचाररय ंक लमिाकर ज्ञात कीलजए?

(A)200960 (B)205960 (C)208160 (D)208960 (E)None of these
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Q.19 :-Find the difference between the total female employees of Delhi to that of total male 
employees of Bhopal?
लर्दल्ली की कुि मलहिा कमटचाररय ं और ि पाि के कुि पुरुष कमटचाररय ं के बीच का अंतर ज्ञात
कीलजए?

(A)18560 (B) 16420 (C) 20480 (D)17890 (E)None of these



\

15%

18%

22%
20%

12%
13%

Total no. of Employee = 8 
lakh

Alipur

Bhopal

Channai

Dehli

Emphla

Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%

Q.20 :-If the percentage of working males and nonworking females of Delhi is 72% and 
34% respectively, then find the difference between the working males and working females 
in Delhi ?
यलर्द लर्दल्ली में कामकाजी पुरुष ं और गैर-कामकाजी मलहिाओं का प्रलतशत क्रमशः 72% और
34% है, त लर्दल्ली में कामकाजी पुरुष ं और कामकाजी मलहिाओं के बीच का अंतर ज्ञात
कीलजए?

(A) 8448 (B)8280 (C)8820 (D)8640 (E)None of these



\Q.21 :- The milk and water in two vessels A and B are in the ratio 4:5 and 3:2 respectively. 
In what ratio the liquids in both the vessels be mixed to obtain a new mixture in vessel C 
containing half milk and half water?
र्द बतटि A और B में रू्दध और पािी का अिुपात क्रमशः 4:5 और 3:2 है। आधा रू्दध और आधा
पािी िािे बतटि C में एक िया लमश्रण प्राप्त करिे के लिए र्द ि ं बतटि ं में तरि पर्दार्ट क लकस
अिुपात में लमिाया जाता है?

(A)9 :5 (B)7:9 (C)5:6 (D)6:7 (E)None of these
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Q.22 :- Two person M and N invested in a business with 115000 and 75000 Rs. respectively. They agree that at 
the end of the year 24% of the profit should be divided equally among them and rest is divided between them 
according to their investment. If M got 4800 Rs more than N Then the total profit is. र्द व्यखि M और N िे एक
व्यिसाय में 115000 और 75000 रुपये के सार् लििेश लकया। क्रमश। िे इस बात से सहमत हैं लक िषट के अंत में िाि
का 24% आपस में बराबर बााँर् लर्दया जािा चालहए और शेष क उिके लििेश के अिुसार आपस में बााँर् लर्दया जाता
है। यलर्द M क N से 4800 रुपये अलधक लमिे त कुि िाि है।

(A)39000 (B)30000 (C)33000 (D)36000 (E)None of these
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Q.23 :- Discount given by a merchant on the marked price of goods is 25% more than the 
profit% earned on it. If discount is reduced by 20% profit is increased by 40% and 
becomes 28%. Find the actual cost price of the goods if the marked price is Rs 320.
एक व्यापारी द्वारा माि के अंलकत मूल्य पर र्दी गई छूर् उस पर अलजटत िाि% से 25% अलधक है।
यलर्द छूर् में 20% की कमी की जाती है त िाि 40% बढ़ जाता है और 28% ह जाता है। यलर्द
अंलकत मूल्य 320 रुपये है, त िसु्त का िास्तलिक क्रय मूल्य ज्ञात कीलजए।

(A) 200 (B)220 (C)260 (D) 280 (E)None of these
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Q.24 :- Mohan said to his brother when I was of  your age, you were 1/6 th of my present 
age . If sum of present ages of Mohan and his brother is 38 years, then what is age of Mohan 
?
म हि िे अपिे िाई से कहा जब मैं तुम्हारी उम्र का र्ा, तुम मेरी ितटमाि उम्र के 1/6 िें रे्। यलर्द
म हि और उसके िाई की ितटमाि आयु का य ग 38 िषट है, त म हि की आयु क्या है?

(A)28 (B)36 (C)24 (D)22 (E)None of these
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Q.25 :- Ram and Rajan complete a project in 3 days. Mohan and Rohan complete the same project in 3 days. 
Rajan is 50% more efficient than Mohan and Rohan completes the project in 6 days. What is the ratio of time 
taken by Ram and Rohan together to the time taken by Mohan and Rajan together?
राम और राजि एक प्र जेक्ट क 3 लर्दि ं में पूरा करते हैं। म हि और र हि उसी प्र जेक्ट क 3 लर्दि ं में पूरा करते हैं।
राजि, म हि से 50% अलधक कुशि है और र हि 6 लर्दि ं में पररय जिा क पूरा करता है। राम और र हि द्वारा
एकसार् लिए गए समय का म हि और राजि द्वारा एकसार् लिए गए समय से अिुपात लकतिा है?

(A)3: 5 (B)5: 3 (C)3: 4 (D)4:5 (E)None of these
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